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PART - III

PnUS¨£vÂ¯À / ACCOUNTANCY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version )

Põ» AÍÄ : 3.00 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 90
Time Allowed : 3.00 Hours ] [Maximum Marks : 90

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®.  £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

No. of Printed Pages : 31

!4207NSAccountancy! Register Number

£vÄ Gs

£Sv & I / PART - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 20x1=20

(ii) öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯
Âøhø¯z ÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx
GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. ö£õÖ¨¦PøÍU Põmi¾® ªSv²ÒÍ ö\õzxPÒ :

(A) |mh® (B) öµõUP® (C) •uÀ (D) C»õ£®

The excess of assets over liabilities is :

(a) Loss (b) Cash (c) Capital (d) Profit

2. Phß ÂØ£øÚz öuõøP PnUQh u¯õ›UP¨£kÁx :

(A) ö©õzu PhÚõÎPÒ P/S

(B) ö©õzu PhÜ¢÷uõº P/S

(C) ö£ÖuØS›¯ ©õØÖa^mk P/S

(D) ö\¾zuØS›¯ ©õØÖa^mk P/S

The amount of credit sales can be computed from :

(a) Total debtors account

(b) Total creditors account

(c) Bills receivable account

(d) Bills payable account

3. ö£ÖuÀPÒ ©ØÖ® ö\¾zuÀPÒ PnUS J¸ :

(A) ö£¯µÍÄ P/S (B) ö\õzx P/S

(C) BÒ\õº P/S (D) ¤µv{vzxÁ BÒ\õº P/S

Receipts and Payments account is a :

(a) Nominal Account (b) Real Account

(c) Personal Account (d) Representative Personal Account
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4. SÔ¨¤mh ÷|õUPzvØPõP ö£ØÓ |ßöPõøh :

(A) Á¸Áõ°Ú ÁµÄ (B) •u¼Ú ÁµÄ

(C) Á¸Áõ°Ú ö\»Ä (D) •u¼Úa ö\»Ä

Donations received for a specific purpose is :

(a) Revenue receipt (b) Capital receipt

(c) Revenue expenditure (d) Capital expenditure

5. E£› AÀ»x £ØÓõUSøÓ GÚ •i²® P/S :

(A) ö£ÖuÀPÒ ©ØÖ® ö\¾zuÀPÒ P/S

(B) Á¸Áõ´ ©ØÖ® ö\»ÂÚU P/S

(C) Â¯õ£õµ P/S

(D) C»õ£ & |mhU P/S

Which Account ends with surplus or deficit ?

(a) Receipts and Payments Account

(b) Income and Expenditure Account

(c) Trading Account

(d) Profit and Loss Account
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6. ¤ßÁ¸ÁÚÁØÔÀ Gx C»õ£ |mh¨ £QºÄ PnUQÀ Põmh¨£k® ?

(A) A¾Á»Pa ö\»ÄPÒ (B) £o¯õÍº Fv¯®

(C) TmhõÎ°ß Fv¯® (D) Á[QUPhß «x Ámi

Which of the following is shown in profit and loss appropriation account ?

(a) Office expenses (b) Salary of staff

(c) Partner’s salary (d) Interest on bank loan

7. ¤ßÁ¸ÁÚÁØÔÀ Gx \›¯ØÓ Cøn ?

(A) Gk¨¦PÒ «x Ámi & •uÀ PnUQÀ £ØÖ øÁUP¨£h
÷Ásk®

(B) •uÀ «x Ámi & •uÀ PnUQÀ ÁµÄ øÁUP¨£h
÷Ásk®

(C) Phß «x Ámi & •uÀ PnUQÀ £ØÖ øÁUP¨£h
÷Ásk®

(D) C»õ£ £QºÄ & •uÀ PnUQÀ ÁµÄ øÁUP¨£h
÷Ásk®

Which of the following is incorrect pair ?

(a) Interest on drawings - Debited to capital account

(b) Interest on capital - Credited to capital account

(c) Interest on loan - Debited to capital account

(d) Share of profit - Credited to capital account
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8. \µõ\› C»õ£® ` 25,000 ©ØÖ® \õuõµn C»õ£® ` 15,000 BP C¸US®÷£õx
E¯º C»õ£® :

(A) ` 25,000 (B) ` 5,000 (C) ` 10,000 (D) ` 15,000

When the average profit is ` 25,000 and the normal profit is ` 15,000, super profit is :

(a) ` 25,000 (b) ` 5,000 (c) ` 10,000 (d) ` 15,000

9. |Øö£¯øµ __________ •øÓPÎÀ ©v¨¤h»õ®.

(A) 2 (B) 3 (C) 4 (D) 5

__________ methods are there to value goodwill.

(a) 2 (b) 3 (c) 4 (d) 5

10. ©Ö©v¨¥mkU P/S J¸ :

(A) ö\õzx P/S (B) ö£¯µÍÄ P/S

(C) BÒ\õº P/S (D) BÒ\õµõ P/S

Revaluation A/c is a :

(a) Real A/c (b) Nominal A/c

(c) Personal A/c (d) Impersonal A/c



64207 (NS)

11. Gx \›¯õÚ Cøn ?

(A) ¦v¯ TmhõÎ ÷\º¨¦ & Buõ¯ ÂQu®

(B) £øÇ¯ TmhõÎ Â»PÀ & v¯õP ÂQu®

(C) |Øö£¯º & PØ£øÚa ö\õzx

(D) C¢v¯ Tmhõsø© \mh® & 1932

Which of the following is correct pair ?

(a) Admission of New Partner - Gaining Ratio

(b) Retirement of Old Partner - Sacrificing Ratio

(c) Goodwill - Fictitious Asset

(d) Indian Partnership Act - 1932

12. ©Ö©v¨¥miß ÷£õx ö£õÖ¨¦PÎß AvP›¨¦ u¸Áx :

(A) Buõ¯® (B) |mh®

(C) C»õ£® (D) ÷©ØPsh GxÄªÀø»

On revaluation, the increase in liabilities leads to :

(a) Gain (b) Loss

(c) Profit (d) None of these
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13. ¤ßÁ¸ÁÚÁØÔÀ Gx Aµ_ {ÖÁÚ® AÀ» ?

(A) C¢v¯ß B°À Põº¨£÷µåß

(B) £õµu ªSªß {ÖÁÚ®

(C) CßL÷£õ]ì Áøµ¯Ö {Ö©®

(D) uªÌ|õk ö\´vzuõÒ PõQu {ÖÁÚ®

Which of the following is not a Government Organisation ?

(a) Indian Oil Corporation Ltd.

(b) Bharath Heavy Electricals Limited

(c) Infosys Limited

(d) Tamil Nadu Newsprint and Papers Ltd.

14. •P©v¨ø£ Âh AvP©õP ö£ØÓ öuõøP ÁµÄ øÁUP¨£k® PnUS :

(A) £zvµ •øÚ©U PnUS (B) AøÇ¨¦ •ß£nU PnUS

(C) £[S •uÀ PnUS (D) £[S JÖ¨¤Ç¨¦U PnUS

The amount received over and above the par value is credited to :

(a) Securities premium account (b) Calls in advance account

(c) Share capital (d) Forfeited shares account
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15. {v GßÝ® ö\õÀ SÔ¨¤kÁx :

(A) |h¨¦¨ ö£õÖ¨¦PÒ (B) |øh•øÓ •uÀ

(C) {ø»a ö\õzxPÒ (D) }sh Põ»a ö\õzxPÒ

The term ‘Fund’ refers to :

(a) Current liabilities (b) Working capital

(c) Fixed assets (d) Non-current assets

16. J¨¦ ÷|õUS AÔUøP __________ £zvPøÍU öPõshx.

(A) 3 (B) 4 (C) 5 (D) 6

A comparative statement has __________ columns.

(a) 3 (b) 4 (c) 5 (d) 6

17. £[Suõµº {vUS® ö©õzu ö\õzxPÐUS® EÒÍ ÂQuõa\õµ® :

(A) E›ø©¯õÍº ÂQu® (B) •uÀ E¢x vÓß ÂQu®

(C) ¦Ó APö£õÖ¨¦ ÂQu® (D) |h¨¦ ÂQu®

Proportion of shareholder’s funds to total asset is called :

(a) Proprietary ratio (b) Capital gearing ratio

(c) Debt equity ratio (d) Current ratio
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18. |h¨¦a ö\õzxPÒ  `  12,000; |h¨¦ ö£õÖ¨¦PÒ  `  6,000; GÛÀ |h¨¦
ÂQu® :

(A) 1 : 2 (B) 2 : 1 (C) 1 : 1 (D) 2 : 2

Current Assets ` 12,000; Current liabilities ` 6,000; Current ratio is :

(a) 1 : 2 (b) 2 : 1 (c) 1 : 1 (d) 2 : 2

19. \®£ÍU PnUS ¤ßÁ¸® G¢u uø»¨¤ß RÌ Á¸® ?

(A) ÷|µi Á¸©õÚ[PÒ (B) ÷|µia ö\»ÂÚ[PÒ

(C) ©øÓ•P Á¸©õÚ[PÒ (D) ©øÓ•P ö\»ÂÚ[PÒ

Salary account comes under which of the following head ?

(a) Direct Incomes (b) Direct Expenses

(c) Indirect Incomes (d) Indirect Expenses

20. £¯Ú›ß ÷uøÁU÷PØ£ u¯õ›UP¨£k® PnUQ¯À AÔUøP¯õÚx :

(A) ÁÇUP©õÚ PnUQ¯À AÔUøP

(B) SÔ¨¤mh ÷|õUP AÔUøP

(C) C¸¨£õ´Ä

(D) C¸¨¦{ø»U SÔ¨¦

Accounting report prepared according to the requirements of the user is :

(a) Routine accounting report

(b) Special Purpose report

(c) Trial Balance

(d) Balance Sheet



104207 (NS)

£Sv & II / PART - II

GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh¯ÎUPÄ®. AÁØÔÀ ÂÚõ Gs
30 &US Pmhõ¯©õP Âøh¯ÎUPÄ®.

Answer any seven questions in which question no. 30 is compulsory.

21. {ø» AÔUøP GßÓõÀ GßÚ ?

What is a statement of affairs ?

22. ¤ßÁ¸® uPÁÀPÎ¼¸¢x C»õ£® AÀ»x |mhzøu PshÔ¯Ä®.

ÂÁµ® `

2018 \ÚÁ› 1 AßÖ •uÀ  2,20,000

2018 i\®£º 31 AßÖ •uÀ 1,80,000

AÆÁõsiÀ öPõsk Á¢u TkuÀ •uÀ 40,000

AÆÁõsiÀ Gk¨¦PÒ 50,000

From the following particulars ascertain profit or loss.

Particulars `

Capital as on 1st January 2018 2,20,000

Capital as on 31st December 2018 1,80,000

Additional capital introduced during the year 40,000

Drawings made during the year 50,000

23. B²Ò EÖ¨¤Úº Pmhn® – ]Ö SÔ¨¦ uµÄ®.

Write a short note on life membership fees.

7x2=14
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24. ¤ßÁ¸® ÂÁµ[PÒ ^ºPõÈ £õhPºPÒ \[Pzvß Á¸Áõ´ ©ØÖ® ö\»ÂÚU
PnUQÀ GÆÁõÖ ÷uõßÖ® GÚU PõmhÄ®.

  `

1.4.2018 AßÖ GÊxö£õ¸ÒPÒ C¸¨¦ 2,600

AÆÁõsiÀ Áõ[Q¯ GÊx ö£õ¸ÒPÒ 6,500

31.3.2018 AßÖ GÊxö£õ¸ÒPÒ C¸¨¦ 2,200

Show how the following items appear in the income and expenditure account of Sirkazhi
Singers Association.

   `

Stock of stationery on 1.4.2018 2,600

Purchase of stationery during the year 6,500

Stock of stationery on 31.3.2018 2,200

25. C»õ£ |mh¨ £QºÄ PnUS Hß u¯õ›UP¨£h ÷Ásk® ?

Why is Profit and Loss appropriation account prepared ?

26. J¸ {ÖÁÚzvß Ph¢u I¢x BskPÎß C»õ£[PÒ ¤ßÁ¸©õÖ;

2014 ` 10,000;

2015 ` 11,000;

2016 ` 12,000;

2017 ` 13,000;

2018 ` 14,000

5 BskPÒ \µõ\› C»õ£zvÀ 2 BskPÒ öPõÒ•uÀ GßÓ Ai¨£øh°À
|Øö£¯›ß ©v¨ø£U PnUQhÄ®.

The following are the profits of a firm in the last five years :

2014 ` 10,000;

2015 ` 11,000;

2016 ` 12,000;

2017 ` 13,000;

2018 ` 14,000

Calculate the value of Goodwill at 2 years purchase of five years.
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27. v¯õP ÂQu® GßÓõÀ GßÚ ?

What is sacrificing ratio ?

28. (i) G¢u Bsk Tally Solutions Tally.ERP 9 GÝ® ö©ßö£õ¸Ò AÔ•P®

ö\´ux ?

(ii) G¢u PnUS £vÂ¯À •øÓø¯ C¢u ö©ßö£õ¸Ò ¤ß£ØÖQÓx ?

(i) In which year did Tally Solutions introduce Tally.ERP 9 ?

(ii) Which system of Book-keeping this software follows ?

29. £[S •u¼ß £À÷ÁÖ ¤›ÄPøÍ SÔ¨¤kP.

What are the divisions of share capital ?

30. C»õ£ ÷|õUP©ØÓ Aø©¨¦PÐUS |õßS GkzxUPõmkPÒ u¸P.

Give four examples of Non-Profit Organisation.
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£Sv & III / PART - III

GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh¯ÎUPÄ®. AÁØÔÀ ÂÚõ Gs
40 &US Pmhõ¯©õP Âøh¯ÎUPÄ®.

Answer any seven questions in which question no. 40 is compulsory.

31. ¤ßÁ¸® uPÁÀPÎ¼¸¢x Phß ÂØ£øÚø¯ PõnÄ®.

ÂÁµ® `

2018 H¨µÀ 1 AßÖ PhÚõÎPÒ 1,00,000

PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP® 2,30,000

AÎzu uÒÐ£i 5,000

EÒ v¸¨£® 25,000

2019 ©õºa 31 AßÖ PhÚõÎPÒ 1,20,000

Find out credit sales from the following information.

Particulars `

Debtors on 1st April 2018 1,00,000

Cash received from Debtors 2,30,000

Discount allowed 5,000

Returns inward 25,000

Debtors on 31st March 2019 1,20,000

32. ö£ÖuÀPÒ ©ØÖ® ö\¾zuÀPÒ PnUQØS®, Á¸Áõ´ ©ØÖ® ö\»ÂÚU
PnUQØS® EÒÍ ÷ÁÖ£õkPÒ H÷uÝ® ‰ßÔøÚU SÔ¨¤hÄ®.

State any three differences between Receipts and Payments Account and Income and

Expenditure Account.

7x3=21
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33. PÂuõ Gß£Áº J¸ Tmhõsø© {ÖÁÚzvß TmhõÎ. AÁº ÁÇUP©õP
JÆöÁõ¸ ©õu•® ` 2,500 GkzxU öPõÒQÓõº. Gk¨¦PÒ «x Ámi
BskUS 4% PnUQh¨£h ÷Ásk®. Gk¨¦PÒ «x Ámi \µõ\› Põ»
•øÓø¯¨ £¯ß£kzv RÌUPsh `Ì{ø»PÎÀ PnUQhÄ®. AÁº :

(i) JÆöÁõ¸ ©õuz öuõhUPzvÀ Gkzv¸¢uõÀ

(ii) JÆöÁõ¸ ©õu Cøh°À Gkzv¸¢uõÀ

(iii) JÆöÁõ¸ ©õu CÖv°À Gkzv¸¢uõÀ

Kavitha is a partner in a firm.  She withdraws ` 2,500 p.m regularly.  Interest on

drawings is charged @ 4% p.a.

Calculate interest on drawing using average period.  If she draws :

(i) at the beginning of every month

(ii) in the middle of every month

(iii) at the end of every month

34. |Øö£¯øµz wº©õÛUS® PõµoPÒ GøÁ÷¯Ý® ‰ßÔøÚ GÊxP.

State any three factors determining Goodwill.

35. Â©»õ ©ØÖ® P©»õ C¸Á¸® TmhõÎPÒ, 4 : 3 GßÓ ÂQuzvÀ C»õ£®
©ØÖ® |mh[PøÍ¨ £Qº¢x Á¢uÚº. ÂÛuõ Gß£Áº Â©»õÂh® 1/14

£[S® ©ØÖ® P©»õÂhª¸¢x 1/14 £[S® ö£ØÖ Tmhõsø©°À
÷\¸QÓõº. AÁºPÎß ¦v¯ C»õ£ £QºÄ ÂQu® ©ØÖ® v¯õP ÂQu®
PnUQhÄ®.

Vimala and Kamala are partners, sharing profits and losses in the ratio of 4 : 3.  Vinitha
enters into the partnership and she acquires 1/14 from Vimala and 1/14 from Kamala.
Find out the new profit sharing ratio and sacrificing ratio.

36. ÷µõê, µv ©ØÖ® Cµõo GßÓ TmhõÎPÒ u[PÒ C»õ£[PÒ ©ØÖ®
|mh[PøÍ \©©õP £Qº¢x Á¢uÚº. 1.1.2018 AßÖ µv Tmhõsø©°¼¸¢x
Â»QÚõº. A¢|õøÍ¯ C¸¨¦{ø»USÔ¨¤ß ö\õzxPÒ £UP® ` 45,000

£Qº¢xzuµõ |mh[PÒ C¸¨ø£U Põmi¯x. £Qº¢xuµõ |mhzøu
£Qº¢uÎ¨£uØPõÚ SÔ¨÷£mk £vÂøÚz uµÄ®.

Rosi, Rathi and Rani are partners of a firm sharing profits and losses equally.  Rathi

retired from partnership on 1.1.2018.  On that date, their balance sheet showed
accumulated loss of ` 45,000 on the asset side of the balance sheet.  Give the journal
entry to distribute the accumulated loss.
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37. Âk£mh ÂÁµ[PøÍU öPõsk ¤ßÁ¸® SÔ¨÷£mk¨ £vÄPøÍ {øÓÄ
ö\´¯Ä®.

£ØÖ ÁµÄ

` `

 __________ 12,00,000

£[S Âsn¨£U P/S __________

(` 3 Ãu® 4,00,000 

£[SPÐUS Âsn¨£z 

öuõøP ö£Ó¨£mhx)

 _______________ __________

      ___________________ __________

(£[S Âsn¨£z öuõøP

£[S •u¾US ©õØÓ¨£mhx)

÷£.£.G.

1

2

|õÒ ÂÁµ®

Complete the following journal entries by filling the missing information.

Dr Cr

` `

 __________ 12,00,000

To share application A/c __________

(Application money on 4,00,000 

shares @ ` 3 per share received)

 _______________ __________

      ___________________ __________

(Application money transferred 

to share capital A/c)

L.F.

1

2

Date Particulars
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38. ÷hÛ¯À {Ö©zvß ¤ßÁ¸® uPÁÀPÎ¼¸¢x J¨¥mk Á¸©õÚ
AÔUøPø¯z u¯õº ö\´¯Ä®.

ÂÁµ®
2015-16

`

2016-17

`

ÂØ£øÚ ‰»® ö£ØÓ Á¸Áõ´ 40,000 50,000

C¯UPa ö\»ÄPÒ 25,000 27,500

Á¸©õÚ Á› % (Á›US •ßÚº EÒÍ C»õ£zvÀ) 30 30

From the following particulars, prepare comparative income statement of Daniel Ltd.

Particulars
2015-16

`

2016-17

`

Revenue from operation 40,000 50,000

Operating expenses 25,000 27,500

Income tax (% of the profit before tax) 30 30

39. PnUQ¯À \õßÓõÁn® SÔzx ]Ö SÔ¨¦ GÊuÄ®.

Write a brief note on accounting Vouchers.

40. C»õ£ ußø© ÂQu[PÒ ¯õøÁ ? AøÁ GÆÁøP°À öÁÎ¨£kzu¨&
£kQßÓÚ ?

Name the profitability ratios.  How are these ratios expressed ?
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£Sv - IV / PART - IV

AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®.

Answer all the questions.

,41. (A) 2018 H¨µÀ 1 AßÖ _£õ ußÝøh¯ öuõÈø» ` 1,20,000 •u¾hß
öuõh[QÚõº. AÁº •øÓ¯õÚ PnU÷PkPøÍ¨ £µõ©›UPÂÀø».  2019
©õºa 31 AßÖ AÁ¸øh¯ HkPÎ¼¸¢x ö£Ó¨£mh ÂÁµ[PÒ
¤ßÁ¸©õÖ.

      

ÂÁµ® ` ÂÁµ® `

Á[Q ÷©À Áøµ¨£ØÖ 50,000 \µUQ¸¨¦ 1,60,000

PhÚõÎPÒ 1,80,000 PhÜ¢÷uõº 90,000

ö£ÖuØS›¯ ©õØÖa^mk 70,000 ö\¾zuØS›¯ ©õØÖa^mk 2,40,000

PoÛ 30,000 øP öµõUP® 60,000

C¯¢vµ® 3,00,000

AÆÁõsiÀ AÁº ußÝøh¯ ö\õ¢u £¯ÝUS ` 30,000 GkzxU
öPõshõº. AÆÁõsiÀ AÁº öPõsk Á¢u TkuÀ •uÀ ` 40,000.
AÁ¸øh¯ C»õ£® AÀ»x |mh® PshÔ¯Ä®.

AÀ»x

(B) PnUQ¯À uPÁÀ Aø©¨¦ GÆÁõÖ ¤Ó uPÁÀ Aø©¨¦PÐUS
EuÄQÓx ? ÂÍUSP.

7x5=35
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(a) On 1st April 2018 Subha started her business with a capital of ` 1,20,000.  She did
not maintain proper book of accounts.  Following particulars are available from
her books as on 31.3.2019.

      

Particulars ` Particulars `

Bank overdraft 50,000 Stock-in-trade 1,60,000

Debtors 1,80,000 Creditors 90,000

Bills Receivable 70,000 Bills payable 2,40,000

Computer 30,000 Cash in hand 60,000

Machinery 3,00,000

During the year she withdrew ` 30,000 for her personal use.  She introduced
further capital of ` 40,000 during the year.  Calculate her profit or loss.

OR

(b) How accounting information system helps the other information system ?  Explain.

42. (A) RÌUPõq® v¸a] ©Ú©QÌ ©ßÓzvß ö£ÖuÀPÒ ©ØÖ® ö\¾zuÀPÒ
PnUQ¼¸¢x 2018 ©õºa 31 B® |õ÷Íõk •iÁøh²® BskUS›¯
Á¸Áõ´ ©ØÖ® ö\»ÂÚU PnUQøÚ u¯õ›UPÄ®.

ö£ÖuÀPÒ ` ö\¾zuÀPÒ `

öuõhUP C¸¨¦ AøÓP»ß Áõ[Q¯x 10,000

øP öµõUP® 11,000 ÁõhøP 2,800

£[Põuõ¯® ö£ØÓx 27,600 ö\¯»º ©v¨§v¯® 15,000

£øÇ¯ ö\´vzuõÒ ÂØÓx 3,000 u£õÀ ö\»ÄPÒ 1,700

EÖ¨¤Úº \¢uõ 31,000 ö£õxa ö\»ÄPÒ 4,350

£õxPõ¨¦ ö£mhP ÁõhøP 8,000 Aa_ ©ØÖ® GÊx 

ö£õ¸ÒPÒ 45,000

•u½kPÒ «uõÚ Ámi 1,250 uoUøPU Pmhn® 5,000

AøÓP»ß ÂØÓx 5,000 CÖv C¸¨¦

(Hmk ©v¨¦ ` 4,400) øP öµõUP® 3,000

86,850 86,850

AÀ»x



19 4207 (NS)

[ v¸¨¦P / Turn over

(B) öh›Uìhß {Ö©zvß ¤ßÁ¸® C»õ£&|mh AÔUøP°¼¸¢x :
(i) ö©õzu C»õ£ ÂQu®
(ii) {Pµ C»õ£ ÂQu® PnUQhÄ®

ÂÁµ® `

I   ÂØ£øÚ°¼¸¢x ö£ØÓ Á¸Áõ´ 24,00,000

II  Cuµ Á¸©õÚ® :

    •u½kPÎ¼¸¢x ö£ØÓ Á¸©õÚ® 70,000

III ö©õzu Á¸Áõ´ (I+II) 24,70,000

IV ö\»ÄPÒ :

    öPõÒ•uÀ ö\´u \µUSPÒ 18,80,000

    \µUQ¸¨¦ ©õØÓ® (−) 80,000

    £o¯õÍº |»ßPÐUPõÚ ö\»ÄPÒ 2,90,000

    Cuµ ö\»ÄPÒ 1,10,000

    Á› JxUS 30,000

    ö©õzu ö\»ÄPÒ 22,30,000

V AÆÁõsiß C»õ£® 2,40,000

öh›Uìhß {Ö©zvß C»õ£&|mh AÔUøP

(a) From the following Receipts and Payment Account of Trichy Recreation Club,
Prepare Income and Expenditure Account for the year ended 31.03.2018.

Receipts ` Payments `

To opening balance By Furniture purchased 10,000

      Cash in hand 11,000 By Rent 2,800

To Dividend received 27,600 By Secretary's honararium 15,000

To Sale of old Newspaper 3,000 By Postage 1,700

To Member's subscription 31,000 By General expenses 4,350

To Locker rent 8,000 By Printing and Stationery 45,000

To Interest on investment 1,250 By Audit fees 5,000

To sale of furniture 5,000 By closing balance

(Book value ` 4,400)       Cash in hand 3,000

86,850 86,850

OR
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(b) From the following statement of profit and loss of Dericston Ltd. calculate :

(i) Gross Profit Ratio

(ii) Net Profit Ratio

Particulars `

I    Revenue from operations 24,00,000

II   Other Income :

      Income from investment 70,000

III   Total revenues (I+II) 24,70,000

IV  Expenses :

     Purchase of stock-in-trade 18,80,000

     Changes in inventories (−) 80,000

     Employee benefits expenses 2,90,000

     Other expenses 1,10,000

     Provision for tax 30,000

     Total expenses 22,30,000

V  Profit for the year 2,40,000

Statement of Profit and Loss
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43. (A) ¤ßÁ¸® uPÁÀPÎ¼¸¢x \õ¢v ©ØÖ® _©v GßÓ TmhõÎPÎß
•uÀ PnUSPøÍ AÁºPÎß •uÀ {ø» •u»õP C¸US® ÷£õx
u¯õ›UPÄ®.

ÂÁµ®
\õ¢v
`

_©v
`

2018 áÚÁ› 1 AßÖ •uÀ 1,00,000 80,000

2018 áÚÁ› 1 AßÖ |h¨¦U PnUS  

(Á) 5,000 3,000

2018 áüß 1 TkuÀ •uÀ  

öPõsk Á¢ux 10,000 20,000

2018 B® Bsiß Gk¨¦PÒ 20,000 13,000

Gk¨¦PÒ «x Ámi 500 300

2018 &À C»õ£ £[S 10,000 8,000

•uÀ «x Ámi 6,300 5,400

Fv¯® 9,000 -

PÈÄ - 1,200

AÀ»x
(B) «Úõ {Ö©zvß 2018 ©õºa 31 &B® |õøÍ¯ ö£õx AÍÄ C¸¨¦{ø»U

SÔ¨¦ u¯õ›UPÄ®.

ÂÁµ®
2018 ©õºa 31

`

I £[S ‰»uÚ® ©ØÖ® ö£õÖ¨¦PÒ 

£[Suõµº {v 2,00,000

}shPõ»¨ ö£õÖ¨¦PÒ 1,60,000

|h¨¦¨ ö£õÖ¨¦PÒ 40,000

                             ö©õzu® 4,00,000

II ö\õzxPÒ

}sh Põ»a ö\õzxPÒ 3,00,000

|h¨¦a ö\õzxPÒ 1,00,000

                            ö©õzu® 4,00,000
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(a) From the following information, prepare capital accounts of partners Shanthi
and Sumathi, when their capitals are fixed.

Particulars
Shanthi

`

Sumathi

`

Capital on 1st January 2018 1,00,000 80,000

Current account on 1st January

2018 (Cr) 5,000 3,000

Additional Capital introduced

on 1st June 2018 10,000 20,000

Drawings during 2018 20,000 13,000

Interest on drawings 500 300

Share of Profit for 2018 10,000 8,000

Interest on Capital 6,300 5,400

Salary 9,000 Nil

Commission Nil 1,200

OR

(b) Prepare common-size balance sheet of Meena Ltd. as on 31st March, 2018.

Particulars
31

st
 March 2018

`

I      EQUITY AND LIABILITIES

       Shareholder's funds 2,00,000

       Non-current liabilities 1,60,000

       Current liabilities 40,000

Total 4,00,000

II    ASSETS

       Non-current assets 3,00,000

       Current assets 1,00,000

Total 4,00,000
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44. (A) BPõè, £õ»õ, \¢x¸ ©ØÖ® ÷hÛ¯À BQ÷¯õº J¸ {ÖÁÚzvß

TmhõÎPÒ. Tmhõsø© J¨£õÁn® CÀ»õu÷£õx ¤ßÁ¸&

ÁÚÁØøÓ GÆÁõÖ ÷©ØöPõÒÃºPÒ ?

(i) BPõè Gß£Áº AvP •uÀ ÁÇ[Q²ÒÍõº. AÁº •uÀ «x Ámi

BskUS 10% ÷Põ¸QÓõº.

(ii) £õ»õ JÆöÁõ¸ ©õu•® ` 3,000 GkzxU öPõÒQÓõº. HøÚ¯

TmhõÎPÒ £õ»õÂh® BskUS  8% Gk¨¦PÒ «x Ámi

{ÖÁÚzvØS AÎUS©õÖ ÷PmQÓõºPÒ. BÚõÀ £õ»õ AuøÚ

J¨¦UöPõÒÍÂÀø».

(iii) BPõè C»õ£zvøÚ •uÀ ÂQuzvÀ £Qº¢uÎUP ÷Ásk®

GßQÓõº. BÚõÀ ¤Ó TmhõÎPÒ AuøÚ J¨¦UöPõÒÍÂÀø».

(iv) ÷hÛ¯À uÚx •Ê÷|µzøu²® öuõÈ¼À ö\»ÂkÁuõÀ AÁº

JÆöÁõ¸ ©õu•® ` 10,000 Fv¯® ÷Áskö©ßÖ ÷Põ¸QÓõº.

(v) \¢x¸ÁõÀ {ÖÁÚzvØS ÁÇ[P¨£mh Phß ` 50,000.  AÁº Phß

«x Ámi BskUS 12% ÷Áskö©ßÖ ÷Põ¸QÓõº.

AÀ»x
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(B) C»õ£ |mh[PøÍ \©©õP¨ £Qº¢x öPõÒÐ® ÷á®ì ©ØÖ®
áìiÚõÂß 1.1.2017 &® |õÍßøÓ¯ C¸¨¦ {ø»USÔ¨¦ ¤ßÁ¸©õÖ :

ö£õÖ¨¦PÒ ` ` ö\õzxPÒ `

•uÀ PnUSPÒ Pmhh® 70,000

÷á®ì 40,000 \µUQ¸¨¦ 30,000

áìiÚõ 50,000 90,000 PhÚõÎPÒ 20,000

Á[Q öµõUP® 15,000

PhÜ¢÷uõº 35,000 •ßTmia ö\¾zv¯ 

Põ¨¥k 5,000

Põ¨¦ {v 15,000

1,40,000 1,40,000

÷©ØTÔ¯ |õÎÀ £õ»ß Gß£Áøµ GvºPõ» C»õ£zvÀ 1/5 £[QØS
¤ßÁ¸® ÂÁµ[PÒ Ai¨£øh°À TmhõÎ¯õP ÷\ºzuÚº.

(i) £õ»ß ` 25,000 •uÀ öPõsk Á¢uõº.

(ii) |Øö£¯›À AÁ¸øh¯ £[PõP ` 10,000 öµõUP©õP öPõsk Á¢uõº.

(iii) ö\õzxPÒ RÌUPshÁõÖ ©v¨¤h¨£mhÚ : Pmhh® ` 80,000,
PhÚõÎPÒ ` 18,000, \µUQ¸¨¦ ` 33,000.

÷uøÁ¯õÚ ÷£÷µmkU PnUSPøÍ u¯õº ö\´x TmhõÎ ÷\º¨¤ØS
¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤øÚ u¯õº ö\´¯Ä®.
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(a) Akash, Bala, Chandru and Daniel are partners in a firm.  There is no Partnership
deed.  How will you deal with the following ?

(i) Akash has contributed maximum capital.  He demands interest on capital
at 10% per annum.

(ii) Bala has withdrawn ` 3,000 per month.  Other partners ask Bala to pay
interest on drawings @ 8% per annum to the firm but Bala did not agree to
it.

(iii) Akash demands the profit to be shared in the capital ratio.  But others do
not agree.

(iv) Daniel demands salary at the rate of ` 10,000 per month as he spends full
time for the business.

(v) Loan advanced by Chandru to the firm is ` 50,000.  He demands interest
on loan @ 12% per annum.

OR

(b) The following is the balance sheet of James and Justina as on 1.1.2017.   They
share the profits and losses equally.

Liabilities ` ` Assets `

Capital accounts Building 70,000

James 40,000 Stock 30,000

Justina 50,000 90,000 Debtors 20,000

Bank 15,000

Creditors 35,000 Prepaid Insurance 5,000

Reserve Fund 15,000

1,40,000 1,40,000

On the above data, Balan is admitted as a partner with 1/5 share in future profits.
Following are the terms for his admissions.

(i) Balan brings ` 25,000 as capital.

(ii) His share of goodwill is ` 10,000 and he brings cash for it.

(iii) The assets are to be valued as under :

Building ` 80,000, Debtors ` 18,000, Stock ` 33,000.

Prepare necessary ledger accounts and the balance sheet after admission.
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45. (A) ¤ßÁ¸® ÂÁµ[PøÍU öPõsk BskzöuõøP •øÓ°À |Øö£¯›ß

©v¨ø£U PnUQhÄ®.

(i) £¯ß£kzu¨£mh •uÀ ` 50,000.

(ii) \õuõµn C»õ£ ÂQu® 10%.

(iii) 2016, 2017 ©ØÖ® 2018 B® BskPÎß C»õ£[PÒ •øÓ÷¯

` 13,000, ` 15,000 ©ØÖ® ` 17,000.

(iv) 3 BskPÎÀ 10% Ámi ÃuzvÀ `  1 -ß uØ÷£õøu¯

BskzöuõøP ©v¨¦ ` 2.4868.

AÀ»x

(B) •zx Áøµ¯Ö £[S JßÖ ` 10 Ãu® 50,000 £[SPøÍ ¤ßÁ¸©õÖ

ö\¾zx® Ásn® öÁÎ°mhx.

Âsn¨£zvß «x `  2, JxURmiß «x  `  4, •uÀ ©ØÖ® CÖv

AøÇ¨¤ß «x ` 4.

1,000 £[SPÒ øÁzxÒÍ J¸Áº AøÇ¨¦z öuõøPø¯

ö\¾zuÂÀø». CøuzuÂµ HøÚ¯ AøÚzx öuõøPPÐ®

ö£Ó¨£mhÚ. AøÇ¨¦ {¾øÁ PnUQøÚ¨ £¯ß£kzv SÔ¨÷£mk

£vÄPÒ u¸P.
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(a) From the following information, compute the value of Goodwill as per Annuity

Method.

(i) Capital employed ` 50,000.

(ii) Normal rate of return 10%.

(iii) Profits of the years 2016, 2017 and 2018 were ` 13,000, ` 15,000 and

` 17,000 respectively.

(iv) The present value of annuity of ` 1 for 3 years at 10% is ` 2.4868.

OR

(b) Muthu Ltd. issued 50,000 shares of ` 10 each payable as follows ;

` 2 on application, ` 4 on allotment, ` 4 on first and final call.

All money were duly received except one shareholder holding 1,000 shares

failed to pay the call money.  Pass the necessary journal entries for calls by using

calls in arrear account.
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46. (A) \wè ©ØÖ® _uß C¸Á¸® J¸ Tmhõsø© {ÖÁÚzvß TmhõÎPÒ.
AÁºPÒ 4 : 3 GßÓ ÂQuzvÀ C»õ£® ©ØÖ® |mh[PøÍ¨ £Qº¢x
Á¸QßÓÚº. 2018 H¨µÀ 1 AßÖ \] Gß£Áøµ TmhõÎ¯õPa ÷\ºzxU
öPõshÚº. \] Tmhõsø©°À ÷\º¢u AßÖ {ÖÁÚ Hk |Øö£¯º
©v¨¤øÚ  `  35,000 GßÖ Põmi¯x. ©õÖ£k® •uÀ •øÓ°À
£µõ©›UP¨£kÁuõP P¸v ÷uøÁ¯õÚ SÔ¨÷£mk¨ £vÄPøÍz uµÄ®.
TmhõÎPÒ ¤ßÁ¸® •iÂøÚ GkzuÚº.

(i) HmiÀ EÒÍ |Øö£¯º öuõøP •ÊÁøu²® ÷£õUöPÊxÁx.

(ii) HmiÀ EÒÍ |Øö£¯º ` 21,000 ©mk® ÷£õUöPÊxÁx.  Âk£mh
uPÁÀPøÍ {µ¨¦P.

|õÒ ÂÁµ®
÷£.

£.G.
£ØÖ
`

ÁµÄ
`

\wæß •uÀ P/S £ __________

_uÛß •uÀ P/S £ __________

|Øö£¯º P/S __________

(                                        )

|õÒ ÂÁµ®
÷£.

£.G.
£ØÖ
`

ÁµÄ
`

_________________ P/S £ 12,000

_________________ P/S £ 9,000

       _________________ __________

(                                        )

___________

___________

AÀ»x

(B) A¨xÀ Áøµ¯Ö {Ö©® ` 10 ©v¨¦ÒÍ 50,000 £[SPøÍ öÁÎ°mhx.
AøÚzxz öuõøP²®, Âsn¨£zxhß ö\¾zx©õÖ ¤ßÁ¸®
{ø»PÎÀ SÔ¨÷£mk¨ £vÂøÚ uµÄ®.

(i) £[SPøÍ •P©v¨¤À öÁÎ°mhõÀ,

(ii) £[öPõßÖ ` 3 •øÚ©zvÀ öÁÎ°mhõÀ
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(a) Sathish and Sudhan are partners in a firm sharing profits and losses in the ratio
of 4 : 3.  On 1st April 2018, they admitted Sasi as a partner.  On the date of Sasi’s
admission, goodwill appeared in the books of the firm at ` 35,000.  By assuming
fluctuating capital account, pass the necessary journal entry if the partners decide
to :

(i) Write off the entire amount of existing goodwill.

(ii) Write off ` 21,000 of the existing goodwill.

Complete the following journal entries by filling the missing information.

Date Particulars L.F.
Dr

`

Cr

`

__________ Sathish's Capital A/c          Dr __________

Sudhan's Capital A/c         Dr __________

To Goodwill __________

(                                        )

Date Particulars L.F.
Dr

`

Cr

`

__________ _________________ A/c    Dr 12,000

_________________ A/c    Dr 9,000

       _________________ __________

(                                        )

OR

(b) Abdul Ltd. issues 50,000 shares of ` 10 each payable fully on application.  Pass
Journal entries if share issued (i) at par (ii) at a premium of ` 3 per share.
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47. (A) ÷uÂ {Ö©zvß ¤ßÁ¸® uPÁÀPÎ¼¸¢x \µUQ¸¨¦ _ÇØ] ÂQu®
©ØÖ® \µUQ¸¨¦ ©õØÖU Põ»zøu²® (©õu[PÎÀ) PnUQhÄ®.

ÂÁµ® `

ÂØ£øÚ ‰»® ö£ØÓ Á¸Áõ´ 12,00,000

AÆÁõsiß öuõhUPzvÀ \µUQ¸¨¦ 1,70,000

AÆÁõsiß CÖv°À \µUQ¸¨¦ 1,30,000

AÆÁõsiÀ ÷©ØöPõsh öPõÒ•uÀ 6,90,000

EÒyUS T¼ 20,000

AÀ»x

(B) CµzÚõ, £õìPº ©ØÖ® C¨µõî® BQ¯ TmhõÎPÒ 2 : 3 : 4 GßÓ
ÂQuzvÀ C»õ£ |mh[PøÍ £Qº¢x Á¢uÚº.  2018 i\®£º 31 AßÖ
CµzÚõ CÓ¢x Âmhõº. AÁ¸USa ö\¾zu ÷Ási¯ CÖvz öuõøP
` 1,00,000 ÁµÄ C¸¨¤øÚU Põmi¯x. RÌUPsh `Ì{ø»PÎÀ
SÔ¨÷£mk¨ £vÄPøÍ uµÄ®.

(i) ÷\µ ÷Ási¯z öuõøP EhÚi¯õP Põ÷\õø» ‰»® ö\¾zu¨&
£mhx.

(ii) ÷\µ ÷Ási¯ öuõøP EhÚi¯õPa ö\¾zu¨£hÂÀø».

(iii) ` 60,000 Põ÷\õø» ‰»® EhÚi¯õP ö\¾zu¨£mhx.

(iv) CÓ¢x ÷£õÚ TmhõÎUS (CµzÚõ) ö\¾zu ÷Ási¯ öuõøP
¯õ¸US ö\¾zu¨£h ÷Ásk® ?
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(a) From the given information calculate the inventory turnover ratio and inventory

conversion period (in months) of Devi Ltd.

Particulars `

Revenue from operations 12,00,000

Inventory at the beginning of the year 1,70,000

Inventory at the end of the year 1,30,000

Purchases made during the year 6,90,000

Carriage inwards 20,000

OR

(b) Ratna, Baskar and Ibrahim are partners sharing profits and losses in the ratio of
2 : 3 : 4 respectively.  Ratna died on 31st December 2018.  Final amount due to her
showed a credit balance of ` 1,00,000. Pass journal entries if;

(i) The amount due is paid off immediately by cheque.

(ii) The amount due is not paid immediately.

(iii) ` 60,000 is paid immediately by cheque.

(iv) To whom the amount due to deceased partner (Ratna) will be given ?

- o 0 o -


